Desulphurisation agent RIIC [%] Chemical equation

lron(ll) oxide SBGx 7773 FeO + H.S » FeSy + H,0
lron(lll) oxide SBCx 69.94 Fe,Os + 3H,S -» 2FeS+s + Su + 3H,0
lron(ll,I1l) oxide 72.36 FesOs4 + 4H,S > 3FeSy + Su + 4H,0
Iron(ll) chloride 4406  FeCl, + H.S 5 FeSs + 2HCIA 1>
lron(lll) chloride 34.43 2FeCls + 3H,S > 2FeS+ + Sv + GHCI @
lron(lll) oxide-hydroxide 62.85 2FeO(OH) + 3H,S -» 2FeS+ + Su + 4H,0
lron(ll) hydroxide 62.15 Fe(OH), + HS » FeSu + 2H,0
lron(Ill) hydroxide 52.26 2Fe(OH)s + 3H.S » 2FeS+y + Su + 6H-,0
lron(lll) oxide trinydrate 52.26 Fe.O0z-3H,O + 3H,S » 2FeS+ + Sy + 6H,0
Also worth listing: Biological desulphurisation

O, addition dosed correctly O + 2H,S - 2Ss + 2H,0

O, addition overdosed 20 + H.S - H.SO,°B @
Side note: Grunsalz aka Eisendunger in German

lron(ll) sulphate 36.76 FeSO., + HS » FeSs + H2SO, @

A Hydrogen chloride or Hydrochloric acid gas @
B Sulphuric acid

Note: The additional sulphur precipitation (S¢) with ferric agents depends on the utilisation of the oxidation power by a
specific group of chemoautotrophic bacteria for respiration.

Damage caused by hydrogen chloride using iron chloride

????



